CITY OF WHITTIER BUILDING AND SAFETY DEPARTMENT PLAN NO. 4

PATIO COVER - STANDARD PLAN
REQUIREMENTS/ NOTES e s

DRAWN MC | 3-20-2013
CHECKED | MW | 3-20-2013

APPROVED
BUILDING OFFICIAL DATE

* CHECK WITH THE PLANNING DIVISION FOR APPROVAL OF LOCATION AND SETBACKS OF PATIO COVER.
SUBMIT 4 COPIES OF THE PLOT PLAN FOR PLANNING DEPARTMENT REVIEW AND APPROVAL.

* PROVIDE PLOT PLAN ON STANDARD PLOT PLAN FORM. (SEE ATTACHED) INCLUDE BUILDING
SETBACKS, POST SPACING, ROOF PLAN, SQUARE FOOTAGE OF THE PATIO COVER, LOT COVERAGE,
(MAX. 40%) AND ANY OTHER INFORMATION REQUIRED BY THE PLANNING DEPT. A FLOOR PLAN,

AND EXTERIOR ELEVATIONS MAY BE REQUIRED.

* COMPLETE THE TABLE BELOW. REFER TO PAGES 2, 3, & 4 FOR CONSTRUCTION DETAILS.
THE SIZE/ SPAN TABLES ARE ON PAGE 5.

PATIO COVER INFORMATION
1. HEADER/ BEAM: (TABLE C) X O SINGLE HEADER O DOUBLE HEADER
2. JOISTS/ RAFTERS: (TABLE A) X @ o.c. O SINGLE RAFTER O DOUBLE RAFTER
3. ROOF COVER: (TABLE D) O SOLID COVER O OPEN TRELLIS X @ o.c.
4. FOOTINGS: (TABLE B) O PAD O SLAB O PIER SIZE: x
\4/ \4/ \4/ -
5. ATTACHMENT TO BUILDING: O TO WALL @ O TO FASCIA @
HEADER SPAN —{-— HEADER SPAN
(TABLE C) (TABLE C) OVERHANG
o i (TABLE A)
il | I x__HEADER
\ 4X4 . ‘/; \ — -
POST & Niivg ! i j
2| 3. \VARRRNEANG: P
PATIO r|< i@ .
= H|< " LL 12'-0" MAX.
| 3
6'-8" MIN.
LEDGER HOUSE PATIO
o >
v /'_:.\\
/ \\
HOUSE ' f—— —
3 N
\ . /
\\ //
FRAMING/ ROOF PLAN CROSS SECTION

EXAMPLE ONLY EXAMPLE ONLY




CITY OF WHITTIER BUILDING AND SAFETY DEPARTMENT

PATIO COVER - STANDARD PLAN
WALL CONNECTION DETAILS

PLAN NO.

4

SHEET 2 OF 5

BY DATE

APPROVED
BUILDING OFFICIAL

DATE

DRAWN MC | 3-20-2013

CHECKED | MW | 3-20-2013

N/
=
HAAD

1/2" DEEP SAW KERF w/ BUTYL CAULK OR POLYURETHENE SEALANT

GALVANIZED 1/2" x 5" COUNTER FLASHING
OVER 4"x 4" 'L' METAL FLASHING

MIN. CLASS A ROOF COVER - BUILT-UP, TORCH DOWN,
OR SELF-STICK ROLLED ROOFING o/ PLYWOOD SHEATHING

WY.L

S =

X'\

RAFTER PER TABLE
ON SHEET 5

OPTIONAL SPACED TRELLIS

SIMPSON LU-26 OR EQ. WITH APPROVED FASTENERS

2x LEDGER w/ 1/2" @ x 5" LAG SCREWS
w/ WASHERS @
PRE-DRILL HOLE FOR LAG SCREWS

EXTERIOR WALL (STUCCO SHOWN)

ROOF TO WALL CONNECTION

16" o.c. (INTO STUD OR CONT. RIM) STAGGERED

2x6

\7 12" MIN.

EXISTING

EXISTING CLASS A ROOFING
24" W. GALVANIZED FLASHING

MIN. CLASS A ROOF COVER - BUILT-UP, TORCH
DOWN, OR SELF-STICK ROLLED ROOFING

o/ PLYWOOD SHEATHING

OPTIONAL SPACED TRELLIS

RAFTER PER TABLE

2x LEDGER w/ 1/2" @ x 4" LAG BOLTS w/ WASHERS

RAFTER ON SHEET 5
chgﬂﬁKNG SIMPSON LU-26 OR EQ. WITH
: APPROVED FASTENERS
B T
AT EXTERIOR
vV WALL EA. SIDE @ 16" o.c., STAGGERED

EXISTING 2x FASCIA w/ A-35 EA. SIDE OF RAFTER

ROOF TO FASCIA CONNECTION @
1"=1/-0"




CITY OF WHITTIER BUILDING AND SAFETY DEPARTMENT

PATIO COVER - STANDARD PLAN
HEADER CONNECTION DETAILS

PLAN NO.

4

SHEET 3 OF 5

BY DATE

APPROVED
BUILDING OFFICIAL DATE

DRAWN MC | 3-20-2013

CHECKED | MW | 3-20-2013

CLASS A BUILT-UP OR TORCH DOWN
ROOFING o/ PLYWOOD SHEATHING

2x RAFTER PER TABLE ON SHEET 5

2x BLOCKING w/ A35 TO HEADER
(& @ 48" 0.c.)

/ 2x FASCIA

|
N ﬁ\_,g =
4x HEADER PER
=]

TABLE ON SHEET5 '

‘T or'L' STRAP EA. SIDE —| | ALTERNATE CONNECTION:
/' w/ SDS 1/4" x 2" SCREWS
4x POST PER PLAN

__\/\__

HEADER CONNECTION DETAIL

SOLID COVER SHOWN

OPEN TRELLIS
(2x3 SHOWN, EQ. SPACED)

2x RAFTER PER

TABLE ON SHEET 5 2x RAFTER EA. SIDE
OF POST PER TABLE
2x BLOCKING w/ A35 TO ON SHEET 5

1"=1/-0"

3

OPTIONAL
/ FALSE POST

HEADER (& @ 48" 0.c.) 3

HEADER CONNECTION

A7 v Envy
AY
] =
SHAPE END —.
. AS DESIRED \
b /X X[ “\-sivPsoN
4x HEADER PER %XFHPEC,)ASDTER/ |(5£A) 58/I8DI(EZ [ A HH[2)£ 10
p TABLE ON SHEET 5 W, " :
BOLTS w/ WASHERS ™ RAFTER
'T' or 'L' STRAP EA. PER TABLE ON SHEET 5 4t POST
SIDE w/ 5/8"@ BOLTS Al X
w/ WASHERS PER PLAN

4x POST PER PLAN

ALT. CONNECTION

OPEN TRELLIS SHOWN 1"=1/-0" Q OPEN TRELLIS SHOWN

1"=1/-0"




CITY OF WHITTIER BUILDING AND SAFETY DEPARTMENT

PATIO COVER - STANDARD PLAN
FOOTING DETAILS

PLAN NO.

4

SHEET 4 OF 5

BY DATE

APPROVED
BUILDING OFFICIAL

DRAWN

MC | 3-20-2013

DATE

CHECKED

MW | 3-20-2013

__\/\__

/ 4x POST PER PLAN

SIMPSON "CB-44"
POST BASE, OR EQ.
w/ (2) 5/8"@ BOLTS

MIN. 1" STANDOFF
OR TREATED WOOD

4" THK. SLAB w/
W.W.M. & MIN. .
2" SAND BASE /
|
<4 i - 4
- -4 4 < o 1 6" MIN.

a

ALTERNATE POST

BASE:

SIMPSON 'CBSQ-SDS2' w/
SDS 1/4" x 2" SCREWS

UNDISTURBED SOIL

J

TETET=]

12" MIN.
TABLE "B"

PAD FOOTING w/ SLAB

4x POST PER PLAN — ]

SIMPSON "ABA-44"

POST BASE, OR EQ. 6" MIN
w/ 1/2"d x 3" APPVD. .
EXPANSION ANCHOR
MIN. 1" STANDOFF °
| OR TREATED WOOD\
9 ) '. A./é 4 ” ,. a4 F :.G.: —
: ==l

4" THK. SLAB MIN.

SLA

NOTE: IF EXISTING SLAB IS

INADEQUATE PER TABLE ON

SHEET 5, UNDERPIN FOOTING

AS REQUIRED.

B FOOTING

SEE TABLE "B" ON SHEET 4

1"=1/-0"

4x POST PER PLAN ——— =
SIMPSON "CB-44" —— |

POST BASE, OR EQ.
w/ (2) 5/8"@ BOLTS

o o

— CONC. FOOTING INTO

]

CONC. PIER T
1 6" MIN.
_ N LI NFG i
1 1k
=B < 4 ST 18" MIN.
I [T
T@:g 4 :|:||_
B
—  12"MIN. |—
TABLE an
OPTION ey Q




CITY OF WHITTIER BUILDING AND SAFETY DEPARTMENT PLAN NO. 4

PATIO COVER - STANDARD PLAN

SPAN TABLES SHEET 5 OF 5
APPROVED DRAWN MC | 3-20-2013
BUILDING OFFICIAL DATE CHECKED | MW | 3-20-2013
TABLE A MAXIMUM RAFTER SPAN TABLE
RAFTER | LIGHTWEIGHT ROOF (OPEN TRELLIS) SOLID ROOF
SIZE 16" 24" 32" 36" 48" 60" 72" 16" 24"
2"x4" | 9-6" | 86" | 76" | 7-3" | 6-9" | 5-9" | 5-9" || 9-0" | 8-0"
2"x6" |16-0"[13-0" | 12-6" | 116" | 103" | 9-3" | 8-3" || 14-3" | 129"
2"x 8" |16-0"| 16-0" | 16-0" | 149" | 130" | 116" | 10'-6" || 160" | 16'-0"
2"x 10" | 16-0" [ 16-0" | 160" | 160" | 159" | 14'-3" | 13-0" || 160" | 160"
4"x 4" |12-6"| 110" | 10-0" | 9-9" | 8-9" | 8-3" | 7-9" || 120" | 10-6"
4"x6" |16-0"]16-0"| 16-0" | 15-3" | 139" | 13-0" | 12-3" || 160" | 160"
4"x8" |16-0"| 16-0"| 16-0" | 16-0" | 160" | 16-0" | 160" || 160" | 160"
TABLE B MINIMUM SQUARE FOOTING SIZE TABLE C HEADER sIZE
POST RAFTER SPAN HEADER SIZE SPAN
SPACING| 6@ | & | 10 | 12 | 14 | 16' | 18 | 20 | [4'x6"or(2)-2'x6" | 100"
40" |~ -] |4x8"or(2)-2'x8" | 136"
6'-0" s T T - T 4"x 10" or (2) - 2"x 10" | 16'-6"
80" | i | [4x1270r (2)-2'x 127 | 190"
100" [~ ~ - |- | 2| 2| 76" 16" 16"
120" |7 | A | e e[ 26| 12T
140" | 7| A 2| 6| 6| 'E e 12507 1250
16-0" |~~~ | A2 e e 26| 2507|2507 150
18-0" |~ | 2" e 26| 12507 2507 1€ 50| 1€ G0
20-0" |~ |~ 6| 6|50 1250 50| €500 1€ ar
FOOTING LEGEND
- - NO FOOTING REQUIRED (4" SLAB ONLY)
2 EROOMERARE T
20" x 20" FOOTING REQUIRED Eﬁg AT ?;EST%L
24" x 24" FOOTING REQUIRED POST(S) POST(S)
TABLE D rooF sHEATHING TABLE E ROOFING MATERIALS
LIGHTWEIGHT - SPACED WOOD PER TABLE D
TYPE OF COVER SPAN
2"x 2" SELF SPACED TRELLIS 6'-0" SOLID COVER
2"x 3" SELF SPACED TRELLIS 8'-6" 1. CLASS 'A' MINIMUM ROOF SYSTEM - BUILT-UP, TORCH
2" 4" SELF SPACED TRELLIS 11'-0" DOWN OR SELF-STICK ROLLED ROOFING OVER
1/2" MIN. PLYWOOD SHEATHING. INSTALL PER
172" PLYWOOD INDEX 32/0 24 MANUFACTURERS WRITTEN SPECIFICATIONS
(8d 6"x 6" 12") (CDX or OSB)
1" STRAIGHT SHEATHING o MATERIAL SPECIFICATIONS
25 ; C%%%RETE go:UZGSE/gg FSIIIR #2 OR BETTER
" " 2. W
(22 _SI&A)"GHT SHEATHING 48 TREATED WOOD AT POSTS AS REQ.
3. PLYWOOD PER APA STANDARD PS 1-83

4. BOLTS A 305




-3-4-13.dwg

O\

CITY OF WHITTIER COMMUNITY DEVELOPMENT DEPARTMENT

STANDARD PLOT PLAN FORM

PLAN NO.

1

SHEET 1 OF 1

PROJECT ADDRESS:

PERMIT:

DATE:

1 SQUARE = 1'-0"




